
min 910mm
max 1560mm

120kg(264lbs)

MOTORIZED TV CARTS
XTR-FS5080 / XTR-FS5090 / XTR-FS5100

INSTALLATION MANUAL





2

P-1 (x2) P-2 (x2)

P-3 (x1)

P-17 (x2)

P-16 (x2)

P-18 (x2)

P-9 (x2)P-8 (x1)

4mm (x1)
I

6mm (x1)
J

14mm (x1)
L

P-6 (x1) P-7 (x1)

P-11 (x2) P-12 (x2)
P-13 (x2)

P-5 (x1)P-4 (x1)

P-10 (x2)

5mm (x1)
M

M5x14 (x4)
M-A

M6x14 (x4)
M-B

M6x30 (x4)
M-C

M8x30 (x4)
M-D

(x4)
M-F

(x8)
M-G

(x8)
M-H

M8x50 (x4)
M-E

P-15(x4)P-14(x2)

K (x10)

E (x8)A (x8) C (x18) D (x4)B (x8) F (x8) G (x2)

H (x2)

P-22 (x1)P-19 (x1) P-20 (x1) P-21 (x1)

  WARNING Read this before you start.
Do not plug into a powersocket until the manual says so. This is important for proper 
matching remote control and receiver (see page 15-16).



3

P-17

P-18

P-18

P-17

L           

J

A

P-1

P-3

1

2



3

4

4

D

I

P-4

H

J

P-19 P-4



5

6

5

3

2

1

P-21

P-19
3

1

P-20

P-1

P-20
P-21

P-1

K

2

Perform the matching remote and receiver procedure from page 15-16.



P-2

7

8

6

P-6

I

B

E

P-15

I



P-10

9a

7

M-G
M-F

M-C
M-D

M-H
M-F

M-E

M-H
M-G

M-F

M-E

M-H
M-G M-F

M-C
M-D

M-H
M-F

M-C
M-D

VESA 400x800

M-H

M-G
M-F

M-E

M-F

M-A
M-B

M-G



9b-2

8

9b-1

VESA 800x900

M-G
M-F

M-C
M-D

M-H
M-F

M-E

M-H
M-G

M-F

M-E

M-H
M-G M-F

M-C
M-D

M-H
M-F

M-C
M-D

M-H

M-G
M-F

M-E

P-10

M

P-11 P-12

F

M-F

M-A
M-B

M-G



9

10

C

P-16

I



11

10

12

P-5

C

P-13

I

Note: 
Please install the tray after the TV is raised or lowered 
to the appropriate height to avoid the tray being too 
close to the TV to a�ect user experience.

I

P-14
C



13

11

14

I

P-9
C

GP-7

I

P-8



15

12



16

13

K



17

14

WARNING
Please do NOT touch the tray
 while lowering down the TV.



control panel Instruction 

1. First Power On

2.Matching Operation 

Please open the control panel and put 2pcs of AAA batteries in.

Please power o� �rst, then power on, you will hear 2 beeps after the product is power on successfully. 
Within 5 seconds after hearing 2 beeps, simultaneously pressing “        ” button and “          ” button, and 
the control panel is into matching mode. Release the buttons, you will hear another 2 beeps, which 
means the control panel matches successfully with the control box.
If press“        ” button and “          ” button after 10 seconds of the matching operation and it does not work, 
it means the matching operation fails and need to do the whole steps again.

15



16

3. Functional Description

4. Overheating Protection
In order to better protect the motor, in 18 minutes of cumulative running 4 meters, the system will enter 
the overheating protection mode, overheating protection needs to be detected in the shutdown state. 
At this time, other functions of control panel are closed, the button cannot be used. After 18 minutes, 
the control panel will automatically exit the overheating protection mode, or you can exit the 
overheating protection mode by power o� and restart.

When a failure occurs, there will be 2 beeps to notify the user that the product is in error. To clear the faults, 
please make sure the motor cable is well connected, and remove the obstacle around the product, then 
long press the“         ” button for 5 seconds and do the reset operation, or power o� the product and restart.
There will be two beeps to notify the user that the product can be used normally.

Button Icon Functional Description

  Short press “        ” button, product will go up 10mm.
  Long press “         ” button, product will keep going up.

Reset: When the product moves to the lowest position, or the product has 
errors. Long press the “         ” button for 5 seconds, the system will enter 
reset mode and the screen displays "RST ". 
If anything happens during the reset process, you can release the “         ”  
button anytime and the product will stopping running. Long press the 
“         ” button again to continue the reset. When the reset operation is 
�nished, you will hear one beep to show it's completed.

Long press “        ” button for 3 seconds, current height will be memorized to 
the system. 
Short press “       ” button, product will move to the M1 height automatically.
The same function using button “        ” .

Short press the “        ” button to stop the movement of the product during 
up and down.

5. Troubleshooting:

  Short press “          ” button, product will go down 10mm.
  Long press “          ” button, product will keep going down.


